0+1= 9+ 10 = 6+7=

1+2= 7+ 8= 0+1=
How many
mOnthSOf 9+ 10 = 2+ 3= 5+6=
the year have
28 days? 4+5= 1+2= 1+2=
344 = 8+49= 74+8=

2+3= 4+5= 9+10=



What has
hands and a
face, but

can’t hold
anything or
smile?

3+4=

243=

7+8=

8+9=

5+ 6=

6+7=

8+9=

4+5=

6+7=

5+ 6=

0+1=

3+4=

7+8=

9+10=

3+4=

8+9=

4+5=

2+3=



Kate’s mother has three children: Snap,
Crackleand __ ?

8+9= 5+46= 5+46=
3+4= 3+4= 6+7=
2+3= 9+10= 1+2=
6+7= 8+9= 8+9=
9+10= 6+7= 3+4=

0+1= 2+3= 2+3=



| have a tail and a head, but no body. What am |?

4+5= 2 +3 = 4+5=
3+ 4= 8 +9= 2 +3=
9+ 10 = 4+5= 5+ 6 =
0+ 1= 7 + 8= 8+9=

7+8= 0+ 1= 7+8=



3+ 4=

4+ 5 =

8 +9 =

1+ 2=

S+ 6=

If you don’t keep me, I'll break. What am I?

7+8=

5+ 6=

2+ 3=

3+ 4=

6+ 7=

7+8=

9+ 10 =

5+ 6=

0+ 1=

6+ 7=



When Grant was
8, his brother
was half his age.
Now, Grant is 14.

How old is his
brother?

0 3 0 2 1 3 2
1 +1 +9 +6 +7 +5




Two fathers
and 2 sons
spent the day
fishing, but
only caught 3
fish. This was

enough for
each of them
to have one
fish. How is this
possible?




Mrs. Brown has 5
daughters. Each of
these daughters

has a brother. How
many children does
Mrs. Brown have?

7 1
+ 9 + 5
3 3
+ 2 + 9
6 6
+ 6 + 7
5 5
+ 4 + 8




INECEICE.
apples in the
basket and you

take away 2. How
many apples do
you have how?

+ 4 + 5 + 7
5 3 4
+ 4 + 9 + 9
6 6 8
+ 2 + 7 + 8
8 8 7
+ 7 + 5 + 2




What goes
away as soon

as you talk
about it?

9 4
+ 3 1
9 1
+ 4 1
3 3
+ 3 e
5 8
+ 4 9
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